IR=NNLIN=

Driven to improve excellence.

READ BEFORE INSTALLATION

The use of any Rennline product is the sole responsibility of the end user.
Rennline Inc. accepts no responsibility for warranty voids or damage
resulting from the use of these products. Do to the varying location of
wiring harnesses and other components, carefully inspect any area prior
to drilling. All Rennline products are intended for off road use only and
should be installed by a qualified automotive technician.

[NSTALLATION INSTRUCTIONS FOR "FULL RACE" TRACK MAT
Fits 1989-98 Porsche C2/C4/993 (Drivers Side)

y

Attach mounting bracket to the Track Mat using the
supplied M6 Machine screw and embossed washer.
Position Track Mat into car and mark location for
mounting bracket.

4

Install Track Mat into car and attach Track Mat to the
mounting bracket. Drill 3/8" holes into frame rail in the
center of the Track Mat mounting holes.

P/N - TMO5FR

Order Online: WWW _RENNLINE.COM
EM Sales@rennline.com

PH 802.893.7366

FX 802-893-7311

Check to make sure you have all parts listed prior to installation.
If anything is missing contact us immediately.

(1) Track Mat
(1) Mounting Bracket -

- (4) #8 Self Drilling Screws - MC91515A100
- (1) 6mm x 20mm Button Head S/S Screw MC91239A326
- (1) Stainless Steel Embossed Washers
- (1) 6MM Nutcerts - MC95105A183
(2) BMM Nutcerts - MC95105A183
(2) Stainless Steel Embossed Washer
(2) 6mm x 12mm Button Head S/S Screw MC91239A318
(1) NutCert tool - TO5
(1) NutCert installation bolt M6x18mm - MC91280A328
(2) Nut Cert Installation Washer M6 - MC91166A250

Attach mounting bracket to the floor of car in the desired
position. NOTE: This unit can be installed in several
different ways. We supply screws and nuts for mounting
through the floor pan. If you are welding or drilling into the
tunnel of the car, check for hoses, lines or any other
object that may be damaged during the process.

Remove track mat and use supplied riv nut tool to install
the riv nuts. Install the track mat using the embossed
washers with the supplied M6 Hardware.



